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F = ma                                                                                        1.1 
                                          F(N) = 1(kg.) x 1(m/s2) 
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1 000 000 000 000 1012 Tera T 

1 000 000 000 109 Giga G 
1 000 000 106 Mega M 

1 000 103 Kilo k 
100 102 Hector h 
10 101 Deka da 
0.1 10-1 Deci d 
0.01 10-2 Centi c 
0.001 10-3 Milli m 

0.000 0001 10-6 Nicro µ 

0.000 000 0001 10-9 Nano n 
0.000 000 000 0001 10-12 Pico p 

0.000 000 000 000 0001 10-15 Femto f 
0.000 000 000 000 000 0001 10-18 atto a 
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���!�I �
"�� U.S. �
"�� SI 
acceleration ft/s2 0.3048 m/s2 

in/s2 0.0254 m/s2 
area ft2 0.0929 m2 

in2 645.2 mm2 
energy ft.lb 1.356 J 
force kip 4.448 kN 

lb 4.448 N 
oz 0.2780 N 

impulse lb.s 4.448 N.s 
length ft 0.3048 m 

in 25.40 m 
mi 1.609 km 

mass oz mass 28.35 g 
lb mass 0.4536 kg 
slug 14.59 kg 
ton 907.2 kg 

volume ft3 0.02832 m3 
in3 16.39 cm3 
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  sin θ1 = 10 sin 60    
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       θ1 = sin
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��("�!$! θ2 &��                                   8      =     9.17 
 

  sin θ2 =  8 sin 60 
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)��������)P	 Rx ��������)P	 Ry �1��!��#-M/(��!��!)�
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�����!��
�/�( �
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�,���� 3.6 �����)P	 R ���
��'&�������!�����)P	 Rx ��������)P	 Ry  
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��P�� �  
������ F1 , F2 , F3 ��� F4 ���
��
����"����!�
���
 x ��� y 

 

 
 

 

 

 

 

 

 

&�0'/ 
 
 

 

 

 

 

 

 

� ������!����"�� F1x , F2x , F3x ��� F4x 
��
�����)P	 Rx �����!����"�� F1y , F2y 

, F3y��� F4y 
��
�����)P	 Ry '��.�) 

R

3

2

1
A 

F1 = 150 

F2 = 80 

F3 = 110 

F4 = 100 

A 

F1 = 150 
F2 = 80 

F3 = 110 

F4 = 100 

F1x = 150 

F1y = 150 sin 

F2y = 80 cos 

F2x = 80 sin 

F4y = 100 

F4x = 100 

A 

F3 = 110 

F1x = 129.9 N 

F1y = 75 N 

F2y = 75.2 

F2x = 27.4 

F4y = 25.9  

F4x = 96.6 



 

 

 

 
 

 

 

 

 

 

 

�����0'/&�������!����"����+��!'��!�
���
 x ����
���
 y �1(��&�
����
)��������)P	 Rx ��!
�
���
 x ��������)P	 Ry ��!�
���
 y 
)��������� 
 

 

 

 

 

 


!�����!�����+��!'&

����
)��������)P	 Rx ��������)P	 Ry �1��!��#-M/(��!��!)�
P	����,�
���
�����!��
�/�( �
�I�������)P	 R 0'/'���,� 

 &��  R
2
 = ( Rx

2
 + Ry

2
) 

        = (199.1
2 
 + 14.3

2
 )   

   R
2
 = 39900 

   R
 
 = 199.7 N 

 ��!$! θ &��  θ = tan
-1

 (Ry/Rx) 

         = tan
-1

 (14.3/199.2) 

     θ = 4.11    
 

 

 

 

 

 

 

 

 

A 

F3 = 110 

F1x = 129.9 N 

F1y = 
F2y = 75.2 

F2x = 

F4y = 25.9  

F4x = 

Ry = 75+75.2-110-25.9 

Rx = 129.9+96.6 - 27.4 

A 
Ry =  

Rx =  

A 

R
 
 = 

Rx =  

Ry =  

θ 



��2���� 2  

 
 
 

 

 

 

 

 

 

 

)�&��I�����"����"��������!$!�������"��R'���'&����
 x -
�����

�1!
�|��� 
)�&��I���� F1  

!$!.��-
������ F1 !�("�
�"���� 30     
  

 

 

 

 

 

 

 

)�&��I���� F2 

!$!.��-
������ F2 !�("�
�"���� 90    + 20    = 110    
 

 
 

 

 

 

 

 

 

)�&��I���� F3 

!$!.��-
������ F2 !�("�
�"���� 270    
 

 

3

2

1
A 

F1 = 150 

F3 = 110 

F4 = 100 

F2 = 80 

3A 

F1 = 150 

A 110

F2 = 80 N 

A 

F3 = 110 

270



 

 

 

 

)�&��I���� F4 

!$!.��-
������ F4 !�("�
�"���� 360    - 15    = 345    
 

 

 

 

 

 

 

 

������"��-
�
���
 x �������"��-
�
���
 y 0'/R'�
�'�-
����� 
 

��� �
�'������  
(N) 

!$!������
(����) 

����"��-
�
���
 x   
(N) 

����"��-
�
���
 y   
(N) 

F1 150 30    150 cos 30    = 129.9  150 sin 30    = 75  

F2 80 110    80 cos 110    = -27.4  80 sin 110    = 75.2  

F3 110 270    110 cos 270    = 0  110 sin 270    = -110  

F4 100 345    100 cos 345    = 96.6  100 sin 345    = -25.9  

  ��! 129.9 - 27.4 + 96.6 = 

199.2  

75 + 75.2 – 110 – 25.9 = 

14.3 
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)��������)P	 Rx ��!
�
���
 x ��������)P	 Ry ��!�
���
 y 
)��������� 
 

 

 

 

 

 

 


!�����!�����+��!'&

����
)��������)P	 Rx ��������)P	 Ry �1��!��#-M/(��!��!)�
P	����,�
���
�����!��
�/�( �
�I�������)P	 R 0'/'���,� 

 &��  R
2
 = ( Rx

2
 + Ry

2
) 

A 

F4 = 100 

345

A 
Ry =  

Rx =  



        = (199.1
2 
 + 14.3

2
 )   

   R
2
 = 39900 

   R
 
 = 199.7 N 

 ��!$! θ &��  θ = tan
-1

 (Ry/Rx) 

         = tan
-1

 (14.3/199.2) 

     θ = 4.11    
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4.1 ����	 
 

 
!���!����!����� �������#$&��"���-�/���#$
��'���
(����
��� ����
��'����!$
 H���#/������)P	���� �
�"�
&$'�,
�	���!��������#$��/����#$&�
��'���
(����
���
)�����"��
'��� ��"#/�!�������� �!��"�
�,
�	����
!�� ���#$&�
��'���
(����
���0�)�/�!%�������!$
'���,���� 4.1 -  4.2 ������� �-�/���#$
��'����!$

�+
��

�����"� R!
!
�	 
 

 

 

 

�,���� 4.1 ��� F ���� �������#$���� ���
"��,
�	����!��� �-�/���#$
��'���
(����
��� ���'/�
�
/� 
 

 

 

 

 

�,���� 4.2 ��� F 0!"0'/���� �������#$���� ���
"��,
�	����!���"���-�/���#$
��'����!$
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 (��!)����!������%�
������&�� �-�/���#$��1�
��1��!$
�����
%�
��� ��'0'/R'�R!
!
�	������
�����

�+
 R!
!
�	 MA ������ F �����
%�
�������"�
&$' A �������&���"����+
%�"�R!
!
�	������ 
F �����
 A H���
���!0'/�"�
��
��(,I����
�'��� F ������
�+
������������+�J�� d H������� d 

��'&����
��!�
���+�J����
 A #���
����� ������� F  

   MA = Fd 

F 

F 



R!
!
�	
��'&�����!�I������(,I���������� '��
�+
-
�����
"�� SI H������$���
��
 
����
 

(N) �������(	
��

!�� (m) R!
!
�	������&��!��
"��
��
 
����
.
!�� (N.m) R!
!
�	������
0!"0'/!�
)����
�'
)�����"��
'������������'/�����������R!
!
�	���'/�� R!
!
�	������&�!�������
��!
�1!
�|���������

�1!
�|����10'/��+
��,"���� ���
"���!)��P	������
���������
'���,���� 4.3 &�
�1

�"�R!
!
�	������ F �����
 A !������!
�1!
�|��� R!
!
�	��������!��#
 �!������

M��)�M(I��

�!��
������!�I����0�0'/#/�
��� ��
'
(������!���������������R!
!
�	-�/��,"-
����
'�����
 H���
R'�����0���/�!��&�� ��
'-�/R!
!
�	���!���������

�1!
�|���!�������
��
��� ���R!
!
�	���!�������
��!
�1!
�|���!�������
��
�� 
 

 

 
 

 

 

 

 

�,���� 4.3 R!
!
�	���
��'&����� F 

 

�����%	���� 1 R!
!
�	���
��'��+
����"������
��1�&�!�("�
�"�0�
!�����������
����&R'�-M/����
�' 70 
��
��
'���,�  

 
��2���	 

&��
���!���R!
!
�	��(,I����
�'��� F ������
�+
������������+�J�� d H������� d ��'
&����
��!�
���+�J����
 A #���
����� ������� F  

&�0'/ F = 70 N 

  d = 0.2 m 
'��
�+
 R!
!
�	   MA = Fd 
         = 70 x 0.2  

          = 14 N.m            ��������

�1!
�|���      
&�0'/ 
 

��
 

F 

d 

MA = Fd !������

�1!

�|��� 

70 N 

0.2 
m 

A 

MA = 14 

N.m 

70 N 
0.2 
m 



 

 

 

 

 

�����%	���� 2 (�
'���,�#,�����
�' 400 N ���� ����&$' B � �!$! 30    �����
 x &���R!
!
�	���
��'��+
���
&$' A  

 

 

 

 

 

 

 

 

��2���	  

������ 400 N ���&$' B ���
��
����"��������-
�
���
 X ����
���
 y  

 

 

 

 

 

 

 

 

 

 

 

&�0'/ 
 

 

 
 

 

 
 

 

'��
�+
R!
!
�	���
��'��+
&�!�("�
�"�������(,I'/��������+�J������
���� 

A 

2 m 

1 m 

30     

A 

B 

400 

N 

400 

N 

30     

A 

B 400 cos 30    = 

346 N 

400 sin 30    = 

200 N 

A 

B Fx = 346 

N 
Fy = 200 

N 

2 m 

1 m 



MA = Fx.d1 + Fy.d2 � ��
'-�/�����

�1!
�|���
��
   + 
       = - 346 x 1 + 200 x 2 

MA = 54 N.m �����

�1!
�|��� 
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�"���
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����� ��������
�
��
��"!�������
����������
�/�! H���&�
��������

��
 “���(,"(��” ������������!�����I�'����"��0'/��" F ��� F’ '���,���� 4.4  
 

 

 

 

 

 

�,���� 4.4 R!
!
�	 Ma ���
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4.3 �	���������;��������.*=������;��5;�������	���-/���;�������	���>�?�������<%�����;��@/� 
 

 ���#$��1�
��1�!���� F !����� ����&$' B '���,���� 4.5 
����!��#�/����� F !���,"���&$' A H����"��
&��&$' A -
�����+�J�������� F 
��
������� d ��&�����
�����
� ���
"������� F &��"���-�/
��'
R!
!
�	������(,"(�� M H���!��
�'
�"���� ��� F (,I������� d '���,���� 4.5  

F d 

F’ 

M

A  
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B Fx =346 

N 
Fy = 200 

N 

D2=2 
m 

d1=1 m 

MA = 54 

N.m 
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��'���(,"(��
����"��&$' A ���&$' B 
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 ��������(,"(�� F ��� F’ ���&$' B ���&$' A R'�!�������+�J������"���
������+����
��

���� d &��"���-�/
��'R!
!
�	������(,"(�� MA = Fd '���,���� 4.8 
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 R!
!
�	������(,"(�����
�"���
�!��#�� R!
!
�	���
��'&�����(,"(��������R'����(,"(����+����
��&&����� ����� ���
"��"����
����!��
�'�"����
��"� �-�/
��'����)P	
��
R!
!
�	���
�"���
 &���,���� 4.9 
��!��#��$��"�
!������#$������� ����������� ���&!��
�'�������������"����
0���"���
��"�
�+�"���-�/

��'R!
!
�	���
�"���
 
 

 
�,���� 4.9 R!
!
�	������(,"(�� 

 

�����%	���� 3 &���,�&���R!
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�	������(,"(�����
��'&�������
����&��+������������
 x �����
 y 
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!
�	������(,"(�������
 x 

 

 

 

 

 

 

 

 

 

 

 

  Mx = - F1 x d1 - F2 x d2     �����

�1!
�|���      +      
        = - 150 x 250 - 150 x 250  

d1 = 250 

mm. 

F1 = 150 N 

x 

d2 = 250 

mm. 

F2 = 150 N 



  Mx = - 75000 N.mm. 

  Mx =  75000 N.mm. 

R!
!
�	������(,"(�������
 y 

 

 
 

 

 

 

 

 

 

 

  My = F1 x d3 - F2 x d4      �����

�1!
�|���      +     
        = 150 x 150 - 150 x 300  

  My = -22500 N.mm. 

  My = 22500 N.mm. 
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��1�&���,"-
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��1���������
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���
 x !�("�
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�
���
 y !�("�
�"�����,
�	  Σ Fy = 0 

����!���R!
!
�	!�("�
�"�����,
�	  Σ MA = 0 

 

D3 = 150 

mm. 

F1 = 150 N 

D4 = 300 

mm. 

F2 = 150 N 
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Chapter 6 
Virtual Work 

 

6.1 Introduction 
 -
�������/�
��0'/� ������
(����	�.�)�!'$��	������#$ R'�
���
-�/��,"-
�,� free 

body diagram ���-M/�!��� Σ F  ���   ΣM  = 0  ���
����("����.��
�� ���������"�
0!"����("�0'/ &���!����/���/
 
��&��
�+
��P������("�'����"�������!��#��("�R'���P������
 

(work) 
�/�!�M"�� ����
�����"� method of virtual work (��

�!��
) 

 
6.2 Work   (�	�) 

 6.2.1 ��


����&�����  (Work of a force)  )�&��I����(���� F  ������� ��
���#$

'���,� 6.1 (a) H���
(����
���0���!��
��&��&$' A #�� A′ R'���
-
�,����
��
���	   ∆S  
��

�����"� ����&�' (displacement) ������#$ R'�
���!��/���
 (W) ���� �R'���� F  �/��!�
������
'����������&�'  '��
�+   
  W  =  (F cos α ) ∆S        

 (6.1) 

 ���� W  =  F (∆S cos α)        

 (6.2) 



 
�<*��� 6.1 

 

 ����)P	���0'/&����+� 2 �!��� &�!�("�
�"���
R'���
 (W) &�
��
���!�I�
����	 H���
���

-�!" 
��
 

  W  =  F  ⋅ r                                   (6.3) 

 �,� 6.1 (a) ��'�#����� % �
������� ��
���#$-' % ���&$' A H���� �-�/���#$
�+
 % 

(����
���0���!
�/
���&��&$' A1 #�� A2 R'�&$' A #,���'�� ���
"�'/��    
��
���	���

� ���
"� r  H�����'&��&$' origin O  �������&�'
/��!��-
���
(����
���&�� A 0���� A′ R'�
!�("����
�����
����
�"���� dr  '��
�+
 ��
���� �R'���� F  ����"������&�' d r  &��#,�
���!'/��  

 

  dW  =  F  . d r      (6.4) 

 ���� dW  =  F ds cos α  

 

H�����'�'���,� 6.1 (b) R'���(	������������&���,"-
������
'����������&�' 
#/�
����
  F  ��� d r  -

��!�����(	��������� rectangular 
��&�0'/ 

 dW = (
^
ixF  + Fy 

^
j  + Fz 

^
k ) . (dx

^
i  + dy

^
j  + dz

^
k ) 

  = xF  dx + Fydy + Fz dz 

 

 '��
�+
#/�����������
(����
���&��&$' A1 #�� A2  ("�)�����
��+��!'!�("� 

 W = ∫ F  . d r   =  ∫ ( xF  dx + fydy + Fzdz)   (6.5) 

���� W = ∫ F cosα ds   (6.6) 

 

6.2.2 ��
���
��'&�����(,"(��  (Work of a Couple)   

 



 
��&����
���
��'&�������/� ���!���
���
��'&�����(,"(�� (Couple) �,� 6.2 (a) ��'�#��

���(,"(�� M  ������� ��
���#$ � �-�/!����
�����
����
M��!$!!�("�
�"���� dθ ��
���� �R'����(,"
(��&���0'/&�������!��
�����
H���
��'&����� 2 ���H���
��
���� �-�/
��'���(,"(��&���$� 
6.2(b)
����
���(,"(��H���
��'&����� 2 ���H���!��
�'
�"���
 ��"�����������
�/�! '/�� F  ��� –

F  H������� ����&$' A ���&$' B  '��
�+
 F  = 
b

M  ����  

M   = Fb  '��
�+
 ��
���� �!�("� 
 dW  =  M dθ         (6.7) 

 

 '��
�+
 ��
��+��!'������(,"(��!�("�
�"���� 

   W  =  ∫ M dθ    (6.8)

  
 

 
 

�<* 6.2 
   

6.2.3 ��

�!��
  (Virtual Work)   

 

 
��)�&��I��
$.�(�
��� % H�����,"-
� ���
"��!'$��	 R'���("�&�����H������� ��


�
$.�(
�+
 % R'��!!���"�����&�'
/�� %  δr ��,"�"��&��� ���
"���!P��!M������(����'/��

����
0�����������
�����"� ����&�'
�!��
 (virtual displacement) '��
�+
( ��"�
�!��
 
(virtual)      &��#,�
 �!�-M/
)������&�M�+�"�����&�'0!"0'/!���,"&��� ��"#,��!!����+
R'�
�����
�������



� ���
"��!'$��	 '��
�+
 ��
���� �R'���� F �
�
$.�(����"������&�'
�!��
  δr &��#,�
�����"� ��


�!��
 (virtual work) !�("�
��
 

  δW  =  F . δ r    ����   δW  =  F δS cos α 

 

 R'�  α   
��
!$!����"�� F  ���  δ r    ���  

   δS 
��
�
�'���  δ r   

 

 (��!����"������"��  δ r  ��� d r  �!��#�����
�����
����
/�� % -
���
(����
���&��� 

�����!��#������&�'-'/R'���� integration ��" δ r  �!��#�� ���
�!��
-
M"����+
 % ����
���
(����
����!!�� ���0!"��!��# integrate 0'/ 

 
��&��
�+
 ����&�'
�!��
��&&��!����!#������!$
������#$  δθ  '��
�+
��
���� �R'�

���(,"(��!�("�
�"����         δW  =  Mδθ 

 

6.3 �0	 �
�/���  (Equilibrium) 

 

 
����!��#��

����
0�����.�)�!'$��	-

��!�����

�!��
-
�,�����
$.�( ���#$��1�

��1� ����������
M���!�"�������#$��1�
��1� '��
�+ 
 

(a) �
$.�( 
  δW = F1 .  δ r  +  F2 . δ r  + F3 . δ r  + …  =  ΣF δr 

 ���� δW = Σ F  .  δ r   =  ( 
^
i ∑ xF  +  ∑ yF

^
j  + ∑ zF

^
k ) . ( 

^
i δx + 

^
j δy + 

^
kδz) 

   =  ΣFx δx +  ΣFy δy  +  ΣFz δz 

 

(b) ���#$��1�
��1�  ����!�������!�("�
�"�����,
�	 
(c) �������
M���!�"�������#$��1�
��1� 
 δW = 0 



 
 

 H����!��(��!�"���

�!��
������� �R'����.��
���
��������!'$��	&�!�("�
�"�����,
�	 
R'�������������

�!��
� ������.����!'$��	&�0!"-M/������#$
)�����

'��� ��"&�-M/���������#$
���!����#$���� % ��

M���!�"���
 R'�������� �-�/
��'��

�!��
&�
��
������
.�������� �
�"�
�+
 
�"�
����N�������������.��-
&�0!"� �-�/
��'��

�!��
 

 

6.4 Potential energy and Stability 
 ��I�����������!�M�+
�"�
��!��#��'�'0'/ ��
������� ��"�M�+
�"�
�����'�'0'/&�#,�
�1�0�/
-
M�+
�"�
������-
�,����)�����
����	

����&�������'����'��� #/�M�+
�"�
�����'�'0'/
�+
��,"-

�,��������� ������������� ��"������
��
��'�"�
R'�������������'����'
�"���� x R'����  F  

= k x  '��
�+
)�����
����	��������!�("�
�"���� 

 

 eW  = ∫
x

0
Fdx  =  ∫

x

0
 kx 

dx    

  = 
2
1 k 2x

 (6.9) 
 

 �I����!������'����'�����������
&�� 1x  #�� 2x  ��
���� � R'������!�("�


�"�������
�����
�������)�����
����	
��'��$"
  '���,� (6.3) 

∆We= ∫
2

1

x

0
kx  dx  =  

2
1 k ( 2

2
x  – 

2
1

x )    (6.10) 



 

�,� (6.3) 

 -
�I����
��'����&�'
�!��
���

����� δx ��

�!��
�
�����&�!�("�
�"����
���
�����
�������)�����
����	��'��$"
 

δWe = F δx  =  kx δx             

(6.11)  

 ��I����!������'�������� ��/���"��
&�� 2x  0� 1x  ���
�����
�������

)
����
����	��������&�!�("���'�� � �-�/ 
δx !�("�
��
�� ��!��+�   δWe  �1!�("�����'
�� 
M"

'�����
   

&���,� (6.4) ��

�!��


����&��
+ ��
��

��
���
�����
����)�����
����	 

����&��

� ���
"� (δWg) R'�)�����
����	

����&��
� ���
"� (Wg) !�("�
�"���� 

 Wg   =  mgh                  
(6.12) 

 ���
�����
����
�!��
���
)
����
����	

����&��� ���
"�&�!�("�
��
 

 δWg   =  mg δh            
(6.13) 

   δh 
��
���
�����
� ���
"�

�!��
-
�
�'������&$'�,
�	����!�� 
 '��
�+
 ���
�����
����
�!��
���
�.����!'$��	 !�("�
�"���� 

δU =  δWe + δWg   =   δV        
(6.14) 
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�,� 6.4 
 

���)�&��I�� ���
"��!'$��	���(��!!��
(�-
���� (Stability) 

 #/�0!"!����-' % !������������� ��
�/
���

����&��
+ ��
�� �!��������


�!��
-
�!������ (6.14)&�
���
0'/
��
 

  δV = 0     

 (6.15) 
 

 ���#/�)�&��I�-
�,�������������� ��
'� ���
"�  (x)  '��
�+
 

  
dx
dV   =  0     

 (6.16) 

H�����'��"� #/� 
2

2

dx

Vd   >  0   � ���
"�&�!�(��!!��
(�  

 #/� 
2

2

dx

Vd   <  0   � ���
"��!'$��	&�0!"!��
(�  

 ��� 
2

2

dx

Vd   =  0 �!'$��	&�
��
���� 

�,���� (6.5)  ��'�(��!!��
(�-
���� 
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�����"����� 1  ���������!�� 10 kg  #,���'���R'������ H���!�(��!
�
��� 
(Stiffness) 
�"����  
2 KN/m  &�  plot  #/�)�����
����	 V ������� �����'�("�� ���
"�����!'$��	����� �����$'
������� 

 
Solution V = Ve + Vg 

   = 
2
1  k 2x  – mgx 


!���������,"-
�!'$��	 
dx
dv  = 0 

∴ 
dx
dv  = kx – mg  =  0 

∴   x = 
k

mg
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3 
 

 
dx
vd2   =  k 

∴ ("�  k  
��
���  '��
�+
 ��'��"�
��
&$'�� ��$' 

∴  x   =   
k

mg
  =  

2000
)81.9(10
 

  = 0.0490 m  ����  49.0  mm 

 

�����"����� 2 The two uniform links, each of mass m, are in the 

vertical plane and are connected and constrained as shown.  

As the angle θ between the links increases with the 

application  of the horizontal force P,  the light rod, which is 

connected at A and passes through a pivoted collar at B,  

compresses the spring of stiffness k.  If the spring is 

uncompressed in the position where  θ =  O,  determine the 

force P which will produce equilibrium at the angle  θ. 

 

 
Solution x  =  2b sin 

2
θ  

∴ )�����
����	��'��$"
��������!�("�
�"���� 

 [ Ve  = 
2
1 k 2x ] ; Ve = 

2
1 k (2b sin 

2
θ 2)  

   = 2k 2sin2b  
2
θ  

 

 -�/&$' O 
��
 reference '��
�+
)�����
����	 

����&�����R
/!#"��!�("�
�"���� 

 [ gV   =  mgh] ;  gV  =  2mg(-bcos
2
θ

)  
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  �����������"�� 0 ��� C !�("�
�"���� 4 bsin 
2
θ  '��
�+
 

��

�!��
H���
��'&����� P !�("�
�"���� 

 δu′ = P δ (4 bsin 
2
θ )  =  2 P b cos 

2
θ δθ 

∴   �!������  virtual work  !�("� 
 [δu′  =   δVe + δVg] 

 2 Pb cos 
2
θ δθ  = δ (2 k 2b 2sin

2
θ ) + δ (–2 mgb cos 

2
θ ) 

  = 2k 2b  sin 
2
θ  cos 

2
θ δθ  +  mgb sin 

2
θ δθ 

 ∴                 p  =

 kb sin 
2
θ  + 

2
1 mg tan 

2
θ  # 

 

�����"����� 3 Each of the two uniform hinged bars has a mass 

m and a length l, and is supported and loaded as shown.  For 

a given force P determine the angle θ  for the equilibrium. 
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Solution [δu  =  0]    Pδx +  2 mgδh  =  0    

 (1) 

 &���,� 
2
x    =  l sin 

2
θ    ����  x  =  2 l sin 

2
θ  

 ∴ δx   =   l cos 
2
θ δθ  

 '��
�+
   h   =   2
l  cos 

2
θ    ���  δh  =  – 4

l sin 

2
θ δθ 

 

��
("���-
�!���  virtual work (1)  '��
�+
 

 P l cos 
2
θ  δθ– 2mg 

4
l  sin 

2
θ δθ  =  0 

 tan 
2
θ   =  

mg
P2   ����   θ  =  2 tan 1-

mg
P2  

 Ans. 

 

�����"����� 4 The mass m is brought to an equilibrium position 

by the application of the couple M to the end of one of the 

two parallel links which are hinged as shown.  The links 

have negligible mass, and all friction is assumed to be 

absent.  Determine the expression for the equilibrium angle 

θ assumed by the links with the vertical for a given value of 

M.  Consider the alternative of a solution by force and 

moment equilibrium. 
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Solution 
+ ��
�� mg ���� �������#$R'��"�
&$'�,
�	����!����� G ������(,"(�� 

M ���� ����������� link ���0!"!����.��
��������(,"(��-' % ���� �-�/
��'��
�


��������"�����!$! θ  !����
�����
����  
 '��
�+
 � ���
"�-
�
�'������&$'�,
�	����!�� G &��#,�������-�/!���������� �

��"�&$' reference 
�"���� h R'� h = b cos θ + C '��
�+
 ��
������� �R'� mg 

����"�����
(����
���  δh -
��������� mg (�� 
 mgδh  =  mg  δ (b cos θ   + c) 

             = mg (– b sin δθ + 0) 

             = – mg b sin θ δθ 

 
(������!������'��"���
!�("�
��
����I���� δθ  
��
��� ("�(���� C ��&&�

�'��&
!�("�
��
�,
�	  ������/�("� θ �����'0'/&�!�("�
��
���-
�����

�1!
�|��� 


)���J�
�+
 δθ &�!�("�
��
���-
�����

�1!
�|���
M"
��
 '��
�+
��
���� �R'����(,"(�� 

M -
�����

�1!
�|��� &�!�("�
��
���
M"

'�����
 (�� + Mδθ 

 &�� δu  =  0 Mδθ + mg δh  =  0 
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   Mδθ   =  

mg b sin θ  δθ          

  θ  =  sin 1-  
mgb
M  Ans. 

 

 

�����"����� 5 For the link OA in the horizontal position shown, 

determine the force P on the sliding collar which will 

prevent  OA from rotating under the action of the couple M.  

Neglect the mass of the moving ports. 

 
 

Solution &���,� #/���� P 0!"���� �
��� B ���� B &�
(����
�������'���,�

�/���"�� � �-�/ OA �!$
0�
��
!$! δθ 

�������&�'-
�
� y 
��
 aδθ  ���&$' 

B 
(����
���0!"���&$' B′  
�"���� –δx 

      

)�&��I��,� ��� ∆  '/�
�������"���� 
limk AB 0'/ 
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(��!��!)�
P	�"�  

 22 yx +    =   2b  

Differential above this 

equation  &�0'/ 
 2xδx  = –

2yδy + 0 

 δx  = –
x

y δy 

   = –
x

y
 (a 

δθ) 

 

&��  virtual work equation 

[δu = 0] Mδθ + Pδx  =  0 

 Mδθ + P (– 
x

y
a δθ)   =  0 

 P  =  
ya
mx   =  

ha
mx

 Ans. 
 

�����"����� 6 Find the force Q exerted on the paper by the 

paper punch as shown an fig. 

Solution &��   δu  =  0 

 
 ���
�����
� ���
"�
�!��
���'/�!&��

��!�
���� !�("� P =   δx ���
�����
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� ���
"�
�!��
������(����!�
����!�("� 

Q = 
b
a δx 

[δu  =  0] ; – Pδx + Q
b
a δx  

=  0 

 Q   =  
a
b P  Ans. 

�����"����� 7 '/�
�/��"��
�'�!� �
�!� 4 ��
 ��"����
!�!�� m  &������ P ������� �
-
�
���'�� 
)��������� ���
"��������0�/-
��
����+���!�,� 

 
Solution &��   δu  =  0 

Consider 1h  =  a cos θ     , δ 1h  = – a sin 

θ δθ 

 2h  =  a cos θ + 
2
b    , δ 2h  = – a sin θ δθ 

 3h  =  a cos θ + b     , δ 3h  = – a sin θ δθ 

 4h  =  2a cos θ + 
2
b  , δ 4h  = – 2a sin θ δθ 

 x =  2a sin θ      , δx = 2a cos θ δθ 

 

&��   [δu  =  0] 
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mgδ 1h  + mgδ 2h  + mgδ 3h  + mg 4h  + Pδx  =  0 

 – 3mg a sin θ δθ – 2mg a sin θ δθ + 2P a cos θ δθ = 0 

  2P a cos θ δθ   =   5 mg a sin θ δθ 

  P  = 
3
5  mg tan θ

 Ans. 
 

�����"����� 8 &���'�����' C -
������0�R'�������-M/� ���������"
�#��-

��!

��� θ   � �����!������/�
�"��"�� % &�0!"
 �!�)�&��I� &�)�&��I�
J)��!������#

�"�

�+
 

 
Solution ���
�����
� ���
"�
�!��
-
�
������� C 
�"���� δl ���
�����


� ���
"�
�!��
-
�
������� mg 
�"���� δh  

 

&���,� ������0�R'������� l 

 ∴ 2l  = (b sin θ 2)  + (L – b 

cos θ 2)  
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δθ ,  2lδl = 2bsinθcosθ δθ + 2(L 

– bcos θ δθ) 

   = 2Lbsinθ δθ 

  δl = 
l
Lb sinθ δθ 

���    h = 2bsinθ + 0h  

  δh  = 2bcosθ δθ 

 

&�� [δu = 0] ;   Cδl – mgδh  =  0 

 C [
l
Lb sinθ δθ] – mg (2bcos θ δθ)  =  0 

 C = 2mg 
L
l cot θ 

  = 
L
mg2

 22 ) bcos-L()sinb(  θθ +    cot θ 

 C = 2mgcot θ  θ−+ cos 2 )( 1
L
b2

L
b

   

 Ans. 
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